EARAROBEEIERT — 2 N— IBISH —F

20145850 (A) 4mEHEIA

PN 3% C2= HS% 3% ESRE
[A&4£] 1 7% :300,000 ™ ~ 23#%&:60,000” ~ 33&:30,000H”  437%&:18,000 ™ .~ 5 7&:12,000
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
1lglo|TA>FNL 3 ;liqai 1:(3_3).1 4-4-1-1 395 — | 1 | 460 fFW‘EBf (R
RN=VTTL BiX2T 4 AN ) ks
N S+ o —0_0_. — FHHER (A
Sl g | Fa—nw—2> it 3 B 1.(343).8 2-2-2-2 | 40.4 2 (4+250) e
R:TS59 084K B:415809+—7 2]zl e
= i it 3 | KEKER 1:34.2 1-1-3-3 | 40.8| -— 5 455 | ERIESRE ()
kY 2 A 4.0 (2 1/2) () | EEE
Lov—AJO— B:bOT7q—KRA2 b Eld=t e
B - o Att—E : 54— — g (FERG)
BT # oo | Zh BRI
Riv—iA7O— B:7xAY>Y BHE ®E
o = o HERE :35. —8-8- . — XIFEE (EE
sy 6 Y JINTA L 4 3 LN 1(335)2 8-8-8-7 |40.8 4 ;1:121) iyl
XX R BN T—aEX e ]
_ Iz PN :35. FaGA . — =
N > BES ISR e it 3 e (11315/24) 3-3-5-5 | 41.6 8 (3_861) Era
R:FvT5 B:RYIXRANT Eld=tie)
IXHFSLU L5 f 3 | BEHNE 1:35.5 7-7-6-6 |41.4| — | 6 | 445 |ABE= (EH)
7lgl10| AT 7>VaT 54.0 (1/2) (-7) | PIEETIS
LA xNTT BETALAYEZLZ &% FX
- Sl H— B3 | HEEX 1:36.0 9-9-7-8 |41.5| — 7 436 | ABE= (EA)
855/ N7 1 N 54.0 3) (+1) () St
R:h—> BI-Y iN—F4— Wit &
\ . 5 43 | MAESL 1:36.6 6-6-9-9 |42.1| — 9 445 | EAITFE (ER)
91l | N TFLY MHA 55.0 (3 1/2) g | B £=257
R:F L N—h b= BiIYXEILF Ly b wh A
2 i 3 | BREHE 1:38.2 10-10-10-10| 43.2 | — 10 | 423 |EEERE (EH)
EH 3| oA 5.0 (10) 4o | @ Fr-xhEvar
L:rh—r BasTFre—TI RENUS
® 1—F—@EBIERL
1T=7r= 4,8,2,9,7,1,10,6,5,3
23— — 4,8,2,9,7,1,10,6,5,3
Ja=5= 9,8,4,7,2,10,5,6,1,3
43—+ — 9,8,4,7,2,10,6,5,1,3
[ /N
B 9 130M 714K 8-9 170 B 7-8 130 JEE 4-8-9 1,040M
B B 9 1004 4-9 350M B & 8-9 310 JEE 9-8-4 1,850
8 110 4-8 570M B E 9-8 390M
4 1509

ABICOVWTRDTEEERROODE. TR LIV,




